April 10, 2003

I met with Dr. Pankratz and he does not like my implementation of the train stopping before it hits the section of track where the turnout is contained.  I feel like this is bringing up a whole lot of issues that are going to affect my project and its implementation.  One issue was allowing another train to change the turnout while there was a train in the intersection.  I think we have an idea for a pretty decent solution to this by adding a semaphor array to lock the turnout while a train owns the turnout and not allow that train or any turnout to toggle it while it is owned.  I have not yet coded this, but it seems to be a logical solution.  

